

References:

- [1] Ahlam J. K. & Ahmad A., (2002)," A Walsh Series Method For Solving Initial Value Problem", To Appear In The Journal Of Science/Saddam University.
- [2] Delves L. M. & Mohamed J. L., (1985), "Computational Methods Of Integral Equations", New York.
- [3] Aludain A., Ahlam J. K. & Ahmad A., (2002), "A Walsh Series Method For Solving Some Types Of Differential And Integral Equations", To Be Appear.
- [4] Zeena J. H., (2002), "On The Solutions Of The Generalized Linear And Nonlinear Eigenvalue Problems", Msc Thesis, Saddam University.
- [5] Ahlam J. K. & Iman A.,(2002)," A Modified Residual Method For Solving The Direct And The Inverse Strum Liouville's Problem", To Appear In The Journal Of Al-Qadisiya , Vol. 8, 2003.

طريقة حل المعادلات التفاضلية الإلخطية

د. احلام جميل خليل د. علاء الدين نوري احمد ايوب*

المستخلص:

في هذا البحث اعطينا تطبيق لطريقة كالركن باستخدام دوال والش لحل المسائل الابتدائية المرافقة للمعادلات التفاضلية الاعتيادية الإلخطية. هذه الطريقة وضحت مع بعض الامثلة العددية.

* قسم الرياضيات وتطبيقات الحاسوب/ كلية العلوم / جامعة صدام

طريقة لحل المعادلات التفاضلية اللاخطية. د. أحلام جميل. د. علاء الدين نوري. أحمد ايوب — 2005

$$\left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) c_0 \right] - \frac{1}{4}c_0c_1 + c_0 + 2 \left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right)^2 + 2 \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) + \left(\frac{-1}{4}c_0 \right)^2 + 1 \right] + \frac{3}{16}c_0 + \frac{1}{2} + \frac{1}{8}c_1 = 2 + \frac{1}{2}$$

and by multiplying eq.(4) by $\phi_1(x)$ and then integrating from 0 to 1 to give

$$\left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) c_1 \right] - \frac{1}{4}(c_0)^2 + c_1 + 2 \left[2 \left(\frac{-1}{4}c_0 \right) \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) - \frac{2}{4}c_0 \right] + \frac{-1}{8}c_0 + \frac{-1}{16}c_1 - \frac{1}{4} = -\frac{1}{4}$$

Solving the above equations to get $c_0 = -7.437 \times 10^{-8}$, $c_1 = 3.862 \times 10^{-7}$, then the solution $y(x)=x$ is the approximate solution of the initial value problem (3) which is agree with the exact solution $y^*(x)=x$.

The screenshot shows a Mathcad worksheet with the following content:

c0:= 1 c1:= -3

Given

$$\left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) c_0 \right] - \frac{1}{4}c_0c_1 + c_0 + 2 \left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right)^2 + 2 \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) + \left(\frac{-1}{4}c_0 \right)^2 + 1 \right] + \frac{3}{16}c_0 + \frac{1}{2} + \frac{1}{8}c_1 = 2 + \frac{1}{2}$$

$$\left[\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) c_1 \right] - \frac{1}{4}(c_0)^2 + c_1 + 2 \left[2 \left(\frac{-1}{4}c_0 \right) \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) - \frac{2}{4}c_0 \right] + \frac{-1}{8}c_0 + \frac{-1}{16}c_1 - \frac{1}{4} = -\frac{1}{4}$$

Find(c0,c1) = $\begin{pmatrix} -7.437 \times 10^{-8} \\ 3.862 \times 10^{-7} \end{pmatrix}$

Fig.(1.2) represents the non-linear system of equations associated with example(2) written in Mathcad software with its solution for initial values of $c_0=1$ and $c_1=-3$.

Now, the solution of the above initial value problem is given by integrating the function $y'(x)$ from 0 to x . That is,

$$\begin{aligned} y(x) &= \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) \int_0^x \phi_0(x) dx + \left(-\frac{1}{4}c_0 \right) \int_0^x \phi_1(x) dx + \int_0^x 1 dx + y(0) \\ &= \left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) \left(\frac{1}{2}\phi_0(x) - \frac{1}{4}\phi_1(x) \right) + \left(-\frac{1}{4}c_0 \right) \left(\frac{1}{4}\phi_0(x) \right) + x \\ &= \left(\frac{1}{2}c_0 - \frac{1}{16}c_0 + \frac{1}{8}c_1 \right) \phi_0(x) + \left(-\frac{1}{8}c_0 - \frac{1}{16}c_1 \right) \phi_1(x) + \frac{1}{2}\phi_0(x) - \frac{1}{4}\phi_1(x) \end{aligned}$$

Hence $y(x) = \left(\frac{3}{16}c_0 + \frac{1}{2} + \frac{1}{8}c_1 \right) \phi_0(x) + \left(-\frac{1}{8}c_0 - \frac{1}{16}c_1 - \frac{1}{4} \right) \phi_1(x)$.

Also, write the variable x as $x = \frac{1}{2}\phi_0(x) - \frac{1}{4}\phi_1(x)$

Next, substitute the function y'' , y' , y & x into eq.(3) to obtain:

$$\begin{aligned} & \left(\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) \phi_0 + \left(-\frac{1}{4}c_0 \right) \phi_1 + 1 \right) + (c_0\phi_0(x) + c_1\phi_1(x)) \\ & \left(\frac{3}{16}c_0 + \frac{1}{2} + \frac{1}{8}c_1 \right) \phi_0(x) + 2 \left(\left(\frac{1}{2}c_0 + \frac{1}{4}c_1 \right) \phi_0 + \left(-\frac{1}{4}c_0 \right) \phi_1 + 1 \right)^2 + \\ & \left(-\frac{1}{8}c_0 - \frac{1}{16}c_1 - \frac{1}{4} \right) \phi_1(x) \\ & = 2 + \frac{1}{2}\phi_0(x) - \frac{1}{4}\phi_1(x) \end{aligned} \tag{4}$$

and as before, by integrating both sides of eq.(4) from 0 to 1 one can get

The screenshot shows the following Mathcad code and results:

```

c0 := 1    c1 := 1

Given

(c0)^2 + (c1)^2 + 1/2*c0 + 1/4*c1 - 3/2 = 0
2*c0*c1 + 1/4*c0 + 1/4 = 0

Find(c0, c1) = [ 1
                -1.62 x 10^-8 ]
    
```

Fig.(1.1) represents the non-linear system of equations associated with example(1) written in Mathcad software with its solution for initial values of $c_0=1$ and $c_1=1$.

Example (2):

Consider the initial value problem

$$y'y'' + 2y'^2 + y = 2 + x \quad (3)$$

with $y(0)=0$ and $y'(0) = 1$.

Approximate $y''(x)$ as: $y''(x) = c_0\phi_0(x) + c_1\phi_1(x)$

$$\text{Therefore, } y'(x) = \int_0^x y''(x) + y'(0)$$

$$\begin{aligned} \text{Thus } y'(x) &= \int_0^x (c_0\phi_0(x) + c_1\phi_1(x)) + 1 = c_0 \int_0^x \phi_0(x) + c_1 \int_0^x \phi_1(x) + 1 \\ &= c_0 \left(\frac{1}{2} \phi_0(x) - \frac{1}{4} \phi_1(x) \right) + c_1 \left(\frac{1}{4} \phi_0(x) \right) + 1 \\ &= \left(\frac{1}{2} c_0 + \frac{1}{4} c_1 \right) \phi_0 + \left(-\frac{1}{4} c_0 \right) \phi_1 + 1 \end{aligned}$$

$$(c_0\phi_0(x)+c_1\phi_1(x))^2+\left(\frac{1}{2}c_0+\frac{1}{4}c_1\right)\phi_2(x)+\left(\frac{-1}{4}c_0\right)\phi_1(x)=1+\frac{1}{2}\phi_0(x)-\frac{1}{4}\phi_1(x)\dots(3)$$

and by integrating both sides of eq.(3) from 0 to 1 and use the following facts:-

$$\int_0^1 \phi_0(x)dx=1, \int_0^1 \phi_1(x)dx=0, \int_0^1 \phi_1(x)\phi_0(x)dx=0 \text{ and } \int_0^1 (\phi_1(x))^2 dx=1$$

one can obtain:

$$(c_0)^2+(c_1)^2+\frac{1}{2}c_0+\frac{1}{4}c_1=\frac{3}{2}$$

and by multiplying eq.(2) by $\phi_1(x)$ and then integrating from 0 to 1 to give

$$2c_0c_1-\frac{1}{4}c_0=-\frac{1}{4}$$

and by solving the above equations via the Mathcad professional software to give $c_0=1, c_1=7.139 \times 10^{-8}$, then

the solution $y(x)=\frac{1}{2}\phi_0-\frac{1}{4}\phi_1=x$ is the approximate solution of the initial value problem (2) which is agree with the exact solution $\hat{y}(x)=x$.

by any suitable method, the values of $\vec{c} = (c_1, c_2, \dots, c_n)$ are computed.

To illustrate this approach, we give the following example:-

Example(1):

Consider the first order non-linear ordinary differential equation:

$$(y')^2 + y = 1 + x \quad (2)$$

with $y(0)=0$.

Approximate $y'(x)$ as: $y'(x) = c_0\phi_0(x) + c_1\phi_1(x)$

Therefore, the solution of the above initial value problem is given by integrating the function $y'(x)$ from 0 to x . That is,

$$\begin{aligned} y(x) &= \int_0^x y'(x) + y(0) = \\ &= \int_0^x (c_0\phi_0(x) + c_1\phi_1(x)) = c_0 \int_0^x \phi_0(x) dx + c_1 \int_0^x \phi_1(x) dx \\ &= c_0 \left(\frac{1}{2} \phi_0(x) - \frac{1}{4} \phi_1(x) \right) + c_1 \left(\frac{1}{4} \phi_0(x) \right) \\ &= \left(\frac{1}{2} c_0 + \frac{1}{4} c_1 \right) \phi_0 + \left(-\frac{1}{4} c_0 \right) \phi_1 \end{aligned}$$

Also, write the variable x as $x = \frac{1}{2} \phi_0(x) - \frac{1}{4} \phi_1(x)$

Next, substitute the functions y', y & x into eq.(2) to obtain:

$$\int_0^x \phi_0(x) dx = x = b_0 \phi_0(x) + b_1 \phi_1(x) + \dots + b_n \phi_n(x)$$

where b_0, b_1, \dots, b_n are known parameters that can be easily found from:

$$b_n = \int_0^1 \phi_n(x) x dx$$

Continue in this manner to find the integrals of the Walsh functions $\int_0^x \phi_1(x) dx, \int_0^x \phi_2(x) dx, \dots, \int_0^x \phi_n(x) dx$ in terms of the linear combinations of the Walsh functions themselves. Thus

$$\begin{aligned} y^{(n-1)}(x) &= c_0 [b_{00} \phi_0 + b_{01} \phi_1 + \dots + b_{0n} \phi_n] + c_1 [b_{10} \phi_0 + b_{11} \phi_1 + \dots + b_{1n} \phi_n] + \\ & c_n [b_{n0} \phi_0 + b_{n1} \phi_1 + \dots + b_{nn} \phi_n] \\ &= \sum_{i=0}^n c_{i+1} \left(\sum_{j=0}^n b_{ij} \right) \phi_j(x) \end{aligned}$$

where $\int_0^x \phi_i(x) dx = \sum_{j=0}^n b_{ij} \phi_j(x)$ and $\{b_{ij}\}_{i=0}^n$ are known

parameters that can be found similar to the above .

Repeat the above procedure to find $y^{(n-2)}(x), \dots, y(x)$ in terms of the Walsh functions. Then by substituting the above functions $y^{(n)}(x), y^{(n-1)}(x), \dots, y(x)$ and x into eq.(1) and taking the scalar product with $\phi_i(x)$, for all $i=0,1,\dots,n$, yields a non-linear system of n equations with n variables $\vec{c} = (c_1, c_2, \dots, c_n)$. Hence by solving this system

where $q = [\log_2 n] + 1$, in which $[\cdot]$ means taking the greatest integer of “.”. Therefore

$$n = b_q \cdot 2^{q-1} + b_{q-1} \cdot 2^{q-2} + \dots + b_1 \cdot 2^0$$

where $b_q b_{q-1} \dots b_1$ is the binary expression of n .

3- The Approach

Consider the general the initial value non-linear ordinary differential equation:

$$F(x, y(x), y'(x), y''(x), \dots, y^{(n)}(x)) = 0, \quad 0 \leq x \leq 1 \quad (1)$$

associated with n th initial conditions. As in [], the approach is based on approximating the highest order derivative of the unknown solution $y^{(n)}(x)$ into a Walsh series:

$$y^{(n)}(x) = c_0 \phi_0(x) + c_1 \phi_1(x) + \dots + c_n \phi_n(x)$$

where c_n are the unknown coefficients of the Walsh series of $y^{(n)}(x)$ that must be determined. The n th derivative of $y(x)$ is obtained by:

$$y^{(n-1)}(x) = \int_0^x y^{(n)}(x) + y^{(n-1)}(0)$$

$$\Rightarrow y^{(n-1)}(x) = c_0 \int_0^x \phi_0(x) dx + c_1 \int_0^x \phi_1(x) dx + \dots + c_n \int_0^x \phi_n(x) dx + y^{(n-1)}(0) \text{ But}$$

$\int_0^x \phi_0(x) dx$ can be also approximate by a Walsh series:

On the other hand, [1] devoted this method for solving the linear differential equations which depends on expanding the solution of them as a Walsh series.

2. Rademacher and Walsh Functions, [1]:

Rademacher's function $r_k(t)$ is a set of square waves of unit height with periods equal to $1, \frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \dots, 2^{(1-k)}$, respectively. Alternatively, we state that the number of cycles of the square waves of $r_k(t)$ is 2^{k-1} . It is noted that the set is not complete since, except for $r_0(t)$, the set involves only functions which are odd about $t = \frac{1}{2}$.

In 1923, Walsh independently developed a complete set known as Walsh functions. The set of Walsh functions $\phi_n(t)$ and the set of Rademacher functions have the following relation:

$$\phi_0(t) = r_0(t),$$

$$\phi_1(t) = r_1(t),$$

$$\phi_2(t) = [r_2(t)]^1 [r_1(t)]^0,$$

$$\phi_3(t) = [r_2(t)]^1 [r_1(t)]^1,$$

$$\phi_4(t) = [r_3(t)]^1 [r_2(t)]^0 [r_1(t)]^0,$$

.

.

$$\phi_n(t) = [r_q(t)]^{b_q} [r_{q-1}(t)]^{b_{q-1}} [r_{q-2}(t)]^{b_{q-2}}$$

An Approach For Solving Nonlinear Differential Equations

Dr. Ahlam J. Khaleel*

Dr. Alaa N. Ahmed*

Ahmad Ayoub*

Abstract:

In this paper, an implementation of the Galerkin's method via the Walsh functions is presented to solve the initial value problem associated with the non-linear ordinary differential equations. This method is illustrated with some examples.

1. Introduction:

The Galerkin's method is an approach used to solve the linear integral equations, [2] as well as the linear differential equations, [5] and the linear eigenvalue problems, [3].

In [4], this method is described to solve the non-linear eigenvalue problems associated with the non-linear integral equations which is based on the polynomial basis.

*Department of Mathematics & Computer Applications/ College of Science
Saddam University